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\>/81- It was a very useful course, one in which we ... information about every aspect of the job we were going to do.
| 1) received 2) provided 3) regarded 4) produced
82- The couple ... us kept distracting everyone by talking during the movie.
1) besides 2) behind 3) forward 4) beyond
83-She ... believes that her husband has not done anything wrong and that he is now in prison for no good reason.
1) emotionally 2) necessarily 3) appropriately 4) really
84- As the man is lazy and hasno ... of responsibility, he does not work to make money for his family.
1) sense 2) basis 3) habit 4) amount
85- When Johann found out that he was beginning to annoy me, he ... the subject to something less disturbing.
1) decreased 2) changed 3) overcame 4) reflected
86- Working in the computer field requires a constant upgrading of ... and knowledge.
1) values 2) factors 3) terms 4) skills

PP

87- Artificial flowers sometimes look so much like natural ones that you can hardly tell the ... .

1) reality 2) identity 3) difference 4) function

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice (1), (2), (3), or (4)

best fits each space. Then mark your answer sheet.

Africa’s population is growing very fast. By 2100, it will be home to 4.4 billion people — four times its present population. The UN
has warned: “The continent continues to ... =%/ under very rapid urban growth -....2777 with extreme urban poverty and
many other social ......3""2 .

The continent began to take off in the second half of the twentieth century, with its population increasing very quickly. Eastern
and Central Africa, including countries such as Kenya and the Congo, ------*""7.._.. . Meanwhile, those in the south and north — such
as South Africa and Tunisia — saw less growth. This trend ... 2"/ to continue in this century — but so far, population growth has

not brought wealth with it.

88- 1) spare 2) suffer 3) follow 4) raise
89- 1) to go 2) it goes 3) by going 4) which goes
90- 1) problems 2) events 3) beliefs 4) activities
91- 1) had the highest population growth 2) with the highest population growth

3) they had the highest population growth 4) and the highest population growth to have
92- 1) expects 2) expected 3) is expected 4) expecting

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four questions. Answer the questions

by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

Passage (1):

There is a big difference between the amount of sleep you can get by on and the amount you need to function optimally. According
to the National Institutes of Health, the average adult sleeps less than seven hours per night. In today’s fast-paced society, six or seven
hours of sleep may sound pretty good. In reality, though, if you sleep that long, you are most probably not getting the sleep you need.
Just because you’re able to operate on six or seven hours of sleep doesn’t mean you wouldn’t feel a lot better and get more done if you
spent an extra hour or two in bed.

While sleep requirements vary slightly from person to person, most healthy adults need between 7 to 9 hours of sleep per night to

h function at their best. Children and teenagers need even more. And despite the notion that our sleep needs decrease with age, most
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¥>/95- It can be understood from the passage that men can improve their physical condition by - .

1) doing housework 2) giving their jobs to women

3) working jobs with more responsibility 4) taking better care of their health problems
96- Which of the following statements is TRUE, according to the passage?

1) Women in the past did not smoke because it was considered a socially negative habit.

2) The difference in life expectancy between men and women is very likely to become smaller.

3) Women’s health problems and those of men are similar in terms of both their causes and effects.

4) If women realize their health problems are because of their new social roles, they would renew their past habits.
Passage (2):

The advantages or positive points of e-readers certainly seem to be more than the disadvantages. They are light and mobile
devices that can be taken anywhere. Taking one gadget on holiday allows us to take hundreds of novels with us without having to pay
for extra luggage on the plane.

The electronic nature of e-readers gives us so much more than a print copy of a book can do. It lets us read in the dark (handy in
case of a power cut). We can look up unfamiliar words in the in-built dictionary with just one click, we can make notes, and we never
forget what page we were on: the e-reader remembers that for us. If our eyesight declines, we can make the letters bigger. We can
re-read Jane Eyre as often as we like and the book will never look any worse for it. And even if our taste in books is unusual, nobody
need know: others can’t see what we are reading. Not only that, most e-books are cheaper than their print versions, and many older
books can be downloaded for free.

So why have only one in three of us read an e-book? The answer must be that there is something special about the look, the feel,
and maybe even the smell of printed books. “Real” books are objects that have a past and their physical presence surrounds us with
happy memories.

97- The author seems to believe that ........_. .

1) printed books are here to stay

2) everyone will soon be using e-books only

3) the digital world has totally changed the publishing industry

4) e-books are difficult to use because they require the use of some extra digital devices
98- What does paragraph 2 mainly discuss?

1) The way e-books have changed people’s reading habits

2) The reason why e-books are more fun to read

3) The effects of e-books on human health

4) The advantages of e-books
99- The name “Jane Eyre” in paragraph 2 is most probably ...

1) an author’s name 2) a book title

3) an e-reader brand 4) a text that is difficult to understand

100- What does the word “that” in paragraph 2 refer to?

1) making notes 2) the page we were reading
3) the reading act 4) the meaning of unknown words
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93- What is the main purpose of paragraph 2?
1) To describe who an influencer is 2) To identify new ways of social media
3) To help influencers do their job better 4) To explain why people follow social media posts

94- It can be understood from the passage that more and more people would like to be influencers because this way they could - .
1) have a large number of followers 2) make a considerable amount of money
3) increase their knowledge in different fields 4) help people make the right decisions in their lives
95- According to the passage, what is an influencer’s niche?
1) His/Her followers 2) The companies he/she works for
3) The area in which he/she is knowledgeabe 4) His/Her social media posts as an influencer
96- Which of the following is NOT named as a medium in paragraph 3?
1) online blog 2) Instagram 3) Snapchat 4) bio
Passage (2):

At the start of every new year, many of us promise ourselves that a certain number of times a week we will go to the gym, go jogging,
attend an exercise class, etc. But many of us have a hard time including exercise in our lives, or we start off well and then stop.

The key could be to find the right type of exercise for you. After all, if we end up doing something we enjoy and can see the positive
effects of, we are more likely to do it for longer than a few weeks. Studies suggest that six weeks are all it takes to form a habit, so once
we have managed to continue for that length of time, chances are that exercise has become a routine part of our lives that we do not
question. So what exercise is right for you?

First of all, you need to find out what your goal is. Are you mainly interested in destressing or in getting healthier? If your important
goal is relaxation, then ask yourself if you want to do this energetically, in which case a type of exercise based on boxing may, for ex-
ample, be right for you. If you have a calmer style, then you could choose some exrecise you can do alone, such as walking, doing some
gardening, or selecting a brisk daily walk around the block. If you get more interested in working with others, then you could join a
tennis, fitness or t’ai chi class, all designed to stretch and strengthen your muscles and with the added benefit of calming the mind.
97- The passage claims that many of those who promise themselves at the beginning of each new year that they would start doing

some type of exercise ... .

1) never join a sports club 2) fail to keep their promise

3) have not already done any exercise 4) can only exercise several times a week
98- On the whole, the passage is intended to .- .

1) help people choose the right exercise for themselves

2) introduce the positive effects of exercise on people’s health

3) explain the reasons why people stop exercising after some time

4) compare and contrast different types of exercise plans with one another

99- The passage mentions all of the following about the effects of joining a t’ai chi class EXCEPT -......... .

1) working with others 2) getting relaxation
3) strengthening your muscles 4) calming the mind
100- According to the passage, doing exercise can become a habit if the person doing it ... .
1) has made himself/herself a promise to do so 2) knows about his goal of exercising
3) selects an easy type of exercise 4) goes on doing it for six weeks
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